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Ydlr = 7574 6 Archimedes
No work = no credit. 287-212 BC (mathematician of Syracuse)
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2. (1 point) What is the most interesting thing you have done/moved using a lever (see quote above)?
Answer using complete English sentences.
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3. (8 points) Use a known Maclaurin series to find a power series representation for f cos r2dx
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4. (8 points) Find the radius of convergence of the power series Y oo ”Ef;)ﬁ,z
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5. (8 points) Find a Taylor Series expansion around z = 1 for f(z) = ¥z.= X ?
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6. (4 points) Find a third-degree Taylor approximation for f(z) = e 3% on the interval —0.2 < z < 0.2.

Then use Taylor’s Inequality (aka The Remainder Estimation Theorem) to estimate the accuracy of
the approximation f(z) = T3(z) when z lies on the given interval.
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